Physics Problems 6 c

Name_______________________

11. A heavy box is pulled across a wooden floor with a rope.  The rope makes an angle of 60° with the floor.  A force of 75 N is exerted on the rope.  What is the component of the force parallel to the floor?  

12. An airplane flies toward 149° at 525 km/h.  What is the component of  the plane’s velocity

a. toward 90°?

b. toward 180°?

13. A student exerts a force of 72 N along the handle of a lawn mower to push it across the lawn.  Find the horizontal component of this force when the handle is held at an angle with the lawn of

a. 60.0°

b. 40.0°

c. 30.0°

14. A hiker walks 14.7 km at an angle of 305° from east.  Find the east-west and north-south components of this walk.

15. Three people are pulling on a tree.  The first person pulls with 15 N @ 65°; the second with 16N at 135°; the third with 11N @ 195°.  What is the magnitude and direction of the resultant force on the tree?

(0ver)

Answers:

11. 38N

12. a.  270 km/h   b.  –450 km/h

13. a.  36 N;   b.  55N;   c.  62 N

14. 8.43 km east;  12.0 km, south

15. 27.1 N @ a25°
